Foundations of data science - Solutions to comprehension questions on
regression

QUESTION 2

Researchers capture 94 squirrels, and determine that the sample mean of the squirrels is 352.0g with a standard deviation of 7
23.0g. They then standardise this variable. What is the standardised weight of a squirrel weighing 386.5g?
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QUESTION 3

Researchers capture 94 squirrels, and determine that the sample mean of the squirrels is 352.3g with a standard deviation of B
23.3g. They then standardise this variable. What is the standard deviation of this standardised variable?
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QUESTION 7

the standardised variables. What is the gradient of the regression line?

Suppose the correlation coefficient of the length of time spent writing an exam and the final mark is -0.2. A lecturer decidesto
try to predict marks from the time taken. The first steps are to plot standardise the variables and then to fit a regression line to
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QUESTION 8

In the above example, what is the coefficient of determination?
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